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U.P. JUDICIAL SERVICE (PRE.) EXAMINATION, 2018
General Knowledge

1. Article 370 of the Indian Constitution is :
wRdtg S@faa™ @1 =g 370 8 :
(a) a permanent provision/ Teh TUTt uTgu™=
(b) a regular provision/ e Rafaa uraem=
(c) a temporary transitional provision/ Q&

SRt HehHUTRTEAI UTae=

(d) None of the above/ 3u=h & & &I 78F
Ans. (c)

2. Who is the guardian of public Constitution is:
i @y FT SRR A8 -
(a) President/ Trgufa
(b) Prime Minister/ wen=t w3t
(c) Finance Minister/ fa= wsft
(d) Comptroller and Auditor General/ A=
3R "gretan udiereh
Ans. (d)

3. Which of the following articles was judicially
reviewed in the 'S.R. Bammai's Case' by the
nine Judges Bench of the Supreme Court?
Prafaf@a 9 9 e da i =l aftan 'ga.em.
T e et RYE & A orett A2
(a) Article 352/ 3= 352
(b) Article 356/ 31=3% 356
(c) Article 358/ 3rg=a< 358

(d) Article 360/ 3rg=3% 360
Ans. (b)

4. Which one of the following tasks is not
performed by the Election Commission?
Fafaf@a & @ o a1 &t gama smahT grr T8

v strar 82

(a) Preparing the electoral rolls/ #aerar gt
AR AT

(b) Setting up polling-booths/ #de™ el &Y
T

(c) Implementing the model code of
conduct/ 3esf JrER Higar @y wwT

(d) Supervising the Panchayat Elections/
uaTad gATal o gdderor

Ans. (d)

5. Which writ is issued by the High Court to the
lower courts to stop legal actions?
I=a AT gRT et srereal &l drEHr dRars
A & forg ol H Re st i et @2
(a) Habeas Corpus/ & ucgefterzor
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(b) Prohibition/ fAser

(c) Quo Warranto/ =g aret
(d) Certiorari/ umfores
Ans. (b)

To encourage voter's participation on the
democratic process 'National Voter's Day’ is
celebrated in India on:

dehdife ufthar & #Aderared &t wrfied &t
mared e & g yrRa & T adaeEr fRaa
HATIT ST & -

(a) 1st November

(b) 5th June

(c) 8th March

(d) 25th January

Ans. (d)

The maximum duration of 'Zero-Hour' in the
Lok Sabha is :

s 9T H ' it it 3ifdepeaw srafd gt 8 :
(a) 30 minutes/30 fA=e

(b) 60 minutes/60 fA=e

(c) 2 Hours/2 &¢

(d) Indefinite period/ sifaffa e

Ans. (d)

Who advises the state government on legal

matters?

FHIH ATAAT # AT ARFR Hl A AT 3T &2

(a) Attorney General/ 3feif s¥Ret

(b) Advocate General/ "gTfda<ht

(c) Chief Justice of High Court/ 3I=a gl a &
A =raneier

(d) None of the above/ Sud<h # & i A}

Ans. (b)

The courts in India can interfere in electoral :

R & I fRafea d g agda R Gerd & ¢

(a) On the basis of Public interest petition/
STfed gTfIehT & STUR IR

(b) On the basis of election petition/ g=ma
AT oh YR WR

(c) On the basis of private interest petition/
fastt fea arfRrent & smemRr R

(d) On the basis of Group interest petition/
ayg fad g & snuR ©®

Ans. (b)
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Given below are two statements; one
labelled as Assertion (A) and the other
labelled as Reason (R). / & & s RRu g &;
Uah ot AfRFRU (A) 3R TR &l HROT (R) & ®T #
Aae forar mam 81

Assertion (A) : The President is a part of
Parliament. / &rar (T): Jgufa §@g @1 ga 3w
2l

Reason (R) : A bill passed by the two Houses
of parliament cannot become law without
the assent of the President./ &RuT (R) : ©9g
& 34T el grT ulRa fdas agafa f agafa &
o= @ A &= gaRar

In the context of the above tatements which
one of the following is correct?

IR YAl & = A fF=fafaa & @ sa-ar e

g a?

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ &+f (Q) aiiR
(31R) T § 3R (31R) (Q) it wet earean 8

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ &+f (Q) aiiR
%ﬂgw?,ﬁﬁﬁ(m) () 1 Tt TfieRror

(c) (A) is true but (R) is false/(T) @ & afha
(3R) goT @

(d) (A) is false but (R) is true/(g) s1o7 & SAfh=
(sR)w= @

Ans. (a)

TRAP is a regulatory body associated with
which of the following sectors :

femrudt fAfaf@a 7 @ fore &7 @ g1 e Fams
A &:

(a) Transport/ aRRag=

(b) Tourism/ gdes

(c) Telecom/ FEHAR

(d) Technical Education/ der-fi<hY frem

Ans. (c)

Which of the following commodities has

highest export from India in 2017?

2017 # A=faf@a 7 § f5g awg &1 YRa 9 &4

31ferer fafa gam &2

(a) Agriculture and allied products/ Ff¥ iz
Helg 3T

(b) Chemicals/ @@=

(c) Engineering goods/ gsfiffafar amm

(d) Textiles/ wasT

Ans. (c)

13.

14.
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Consider the following statements :

Assertion (A) Fiscal deficit of Indian

Government as a percentage of GDP was

higher in 2017-18 as compared to Budget

estimates.

Reason (R) : Growth in indirect tax collection

was relatively lower during 2017-18 on

account of introduction of GST. Choose wie

correct answer from the code given below :

Codes:

fA=fafaa sy w AR fiffa:

14T (TQ): Hehel U IUTE & Afaerd & ©0 d WRd

EXPR 1 IASTRIYT GTeT FoTe JFATT i g1 &

2017-18 # 31fdas T

RO (31R): SHgEE &t YR & FRoT 2017-18

& SR e R g A gfg srdamgpa x oAt

2 R ¢ e @ T8t SR g : g

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ &+f (Q) &R
(31R) T § 3R (31R) (Q) i wet carean 8

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ &+f (Q) aiR
(31R) &4 g, Afh (3MmR) (Q) =1 wEt TWeteeor
T8

(c) (A) is true but (R) is false/(Q) 9= & afra
(3R) o1 8

(d) (A) is false but (R) is true/ (T) oot & afh=
(sR) &= @

Ans. (a)

Match List-I with List-II and select the correct
answer by using the codes given below the
lists :

-1 &t gR-11 @ gafra iferg o it & 9
g g e @1 v R 9E IR g

List-I List-II

1 | Fundamental Duties A | Article 17

2 | The concept of Basic | B | Article 368
Features of the

Constitution

3 | Abolition of | C | 42nd
Untouchability Amendment

Kesavanand
Bharati Case

4 | Amendment of the | D
Indian Constitution

Codes :

(A) (B) (C) (D)
(a)4132
(b)3412
(c)3214
(d)3241
Ans. (b)
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Fill in the blank from the codes given below :
'During the last decade, a perception is
growing in the World that China and India
are becoming two major.......... in the world.
1 Rig 7q et @ R wur 1 ofef A :

'frea 21 & kM, gFar 7 ge uron 93 3§t 8 R
R wrRaghard g ........... gid ST %@ 81
Codes :

(a) economic, superpowers/ anfde, Agrarfrai
(b) atomic superpowers/ gzHT] HEIRMfRRAT

(c) political superpowers/ T=T=ifaes AgiIrai
(d) None of the above/ SuRiwh # & =i &l
Ans.(a)

'ECOMARC' symbol is related to :

'FHengAgIRHl udier A1 e @ ¢

(a) Export goods/ Rafa are

(b) Import goods/ 3maTd AT

(c) Best quality goods/ saf~™ Torat aret
qEE

(d) Goods safe for environment/ qafazur & fag
gffa g

Ans. (d)

'Gilt-edged' market means :

'fee-ust’ IR AT 31f @

(a) market of guns/ szl T FRIR

(b) market of government securities/ SRR
ufarsgfaat &1 aoR

(c) bullion market/ GRT®T ISR

(d) market of pure metals/ [ uTg3ii &1
TR

Ans. (b)

Which institute estimates National Income
of India?

I T HEA WRe i AT 41 1 SIHT Tt
8?

(a) I.S.I./ 3. 9. 31ms.

(b) R.B.I. / 3=efterms

(c) C.s.0. / H.gg.a1.

(d) NABARD / S1aTS

Ans.(c)

If the Cash Reserve Ratio is lowered by the
R.B.I., what will be its impact on credit
creation?

afe wRdg Red 3 gRT Aehe oRfAa sigura &t
A TR T ST g, &t U1 oI UR SHE T UHT
w2m?

(a) Will get decreased/ &% gt SITQ

20.

21.

22.

23.
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(b) Will get increased/ g STQm

(c) will have no impact/ @hts guTa Agt a2

(d) None of the above impacts/ SuRi<h yuTel &
d i

Ans. (b)

Consider the following statements :

fA=fafaa sy w® AR fifa:

1. India has attained self-sufficiency in
almost all consumer goods

2. For capital goods India still depends on
imports Select the correct answer using
the code given below :

1. WRA 7 T G IusdihT avgei A
STeAfARaT ured e ot &

2. guihTd agett & fag wra eioft off smama w=
Rk & R Ry 70 FHe o1 wahT o= a9 w®
g

(a) 1is true but 2 is false/1 ga g AfFT 2 T 2

(b) 2 is true but 1 is false/2 Gag AfrT 1 Ta 8

(c) Both 1 and 2 are true/1 3R 2 AT a=a &

(d) Both 1 and 2 are false/1 3R 2 ST & &

Ans. (c)

The Income tax in India is :

WRA H AR @ :

(a) Direct and Proportional/ waer 3R
Srgutfaeh

(b) Indirect and Progressive/ 3mer SR
wfasfier

(c) Direct and Progressive/ ueaei 3z wrfasfier

(d) Indirect and Proportional/ 3meger 3R

SrguTfereh

Ans. (c)

The Central Banking Function in India are
performed by :

WRd # shdla Sfeh ok foraes gRT fomar srar &:
(a) Central Bank/ ¢t d

(b) SBI/ qweitamg

(c) RBI/ 3Reftamg

(d) Both (b) and (c)/ &t (sft) sz ()

Ans. (c)

The economic

concerned with :

3nfdfer e ufehar T dau @ ¢

(a) arise in per capita income/ ufa @fs sma &
i

(b) a rise in percentage of G.D.P./ St &
ufasra & g

development process is
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(c) Changes in the structure of economy/
rfegaeyr it T=AT 7 uRead=

(d) all of the above/ Sui<h @t

Ans. (d)

Which Five Year Plan has laid emphasis on

"Faster, Sustainable and Inclusive growth"?

fra duadfa gismm 3 "dw1, @aa ok gwEash

" ek Rarg?

(a) Eleventh Five Year Plan/ m™argdl d=eadfa
I

(b) Twelfth Five Year Plan/ aRgdl d=redffa
gier=T

(c) Tenth Five Year Plan/ o<t d=redffa gis=r

(d) Ninth Five Year Plan/ si<fi d=reffa atsm=r

Ans. (b)

Taxes raised are credited into :

IBIT 7T KR} A ST fohar ST &:

(a) Consolidated fund/ Tdfaa fAfer

(b) Contingency Fund/ sirerf@erar fAfY
(c) Public Accounts/ ardsifAes @

(d) Private Accounts/ fA<ft @@

Ans. (a)

Which sector contributes maximum share in
the National Income of India?

WRd &t AT o A fore & o1 gihvTe waifde §?
(a) Agricultural Sector/ f¥ &=

(b) Industrial Sector/ sftenfie &=

(c) Service Sector/ et &=

(d) None of the above/ Iu<h # & i &)
Ans. (c)

With reference to the reservation of seats for
women in Panchayat Raj Institutions, which
of the following statements is/are correct?
U ST STl § Afgenstt & faw dHiel &
IRe(UT & e 7, Aafafaa d @ o9 91/d &=
gt 8/8?

(1) It is provided for in Article 243D(3) of
the Indian Constitution.

(2) The reservation shall cease to have
effect on expiration of the period
specified in Article 334.

(1) ug YR d@faum= & ergede 2434(3) &
v foRaT T 21

(2) orged= 334 A fAfée erafy i smfa w
STRETUT JHTW gl ST |

(a) I only/ dhaet 1

(b) 2 only/ dhaet 2

(c) Both 1 and 2/ &4t 1 3k 2

28.

29.

30.

31.
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(d) Neither 1 nor 2/ Fat13iRI& 2
Ans. (a)

Which of the following fundamental rights is

not available to foreign citizens?

fAefafaa d @ a9 1 difces fer fAR:f

ARTReRI hl IueeY Tl 82

(a) Equality before law/ wIF[A & TH&T AT

(b) Freedom of expression/ sifeafwh &Y w@e=ar

(c) Right to Life and Personal Liberty/ sflast
3R aafehira Taesre o1 fdarR

(d) Right against exploitation/ 2iwor & f&«rs
fdarR

Ans. (b)

In which of the following years
'Swavalamban Scheme' was launched as a
function of the welfare state in India?
fAafafaa 7 @ g ad & wrRa # seaoress Isa
% Uch GHRIg & ¥4 | "SIaead e R 6l 1
off?

(a) October 2012/ 3rageR 2012

(b) September 2014/ f&dsR 2014

(c) January 2011/ s=a$t 2011

(d) September 2010/ fR&<=R 2010

Ans. (d)

Which of the following is not found today a

general characteristic of the party system in

India?

Aafaf@a & @ &9 oner wRa d aofta aaawur &

Teh 9T fatvar gt urs st 82

(a) Fragmentation and polarisation of
parties/ uiféal a1 fags= ok gpeftenzor

(b) Most of the parties are based on ideology
and concerned with national interest/
Sifdrepier g« fAaRuRT R snulRa & ik I
fRadHafda &

(c) Personality-oriented political parties/
fehed 3@ AT &

(d) Mushroom growth of political parties/
TsTifae gl & Aed fawe

Ans. (b)

Consider the following statements regarding

National Human Rights Commission of India

and give the correct answer :

WRd & AT AFGORR AT & g |

frafafae syl = AR & s adt R &

(a) It was organised in 1993/ ug 1993 #
Smaifora foram wam ur
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(b) Its president and members are appointed
by the President of India/ 39 3iwaer 3R
=t fY fAgfs wra & weafa grr 6 et 8

(c) The President of 'NHRC' must be retired
Chief Justice of India/'TAgasmf}’ & sreger
& MR & Harfga g i g arfgg

(d) All of the above are correct/ IuRl<h Tft I

&
Ans. (d)

32. Which of the following is not include in list of
Fundamental Duties in the Article 51 (a) of
the Indian Constitution?

A=fafEa 4 | 9 wrda d@faum & srgesde 51

(Q) # wifcres shefeat &Y =t A enfae 81 82

(a) To caste Vote in general elections/ 3
gl # gie e+ & forg

(b) Tovalue and preserve the rich heritage of
our composite culture/ gart fAfda dwpfa
F T faRTa &t wga 37 IR WRida & &
fog

(c) To develop the scientific temper/ asfAs
w9 fAafaa A & fag

(d) To uphold and protect the sovereignty,
unity and integrity of India/ YwRa &t
IThI 281 e & fAg

Ans. (a)

33. Choose your correct answer from the options
given below regarding the number of States
and Union Territories in India?

WRA & Tal 3R g A e Y T & ey J

H2 R ¢ RAereut 7 | sg=m w1t SR gH?

(a) 28 States and 6 Union Territories/28 Isa
3R 6 g f_T war

(b) 29 States and 7 Union Territories/29 9
3R 7 &g, anfla war

(c) 29 States and 6 Union Territories/29 =T
3R 6 g f_a war

(d) 28 States and 6 Union Territories/28 g
3R 6 che; N wer

Ans. (b)

34. Which one of the following features is not
correct about the writ-committee of the
Indian Parliament?

R g & Re-gfafa d ar A Fafaf@a d @

&1 It ftwar 9 a8t 82

(a) It consists of 15 members/ 394 15 e g
8
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(b) Al members are nominated by the
speaker/ 9t wewal &t sremer gRT ARG farar
ST g

(c) Minister of law and Justice must be its
member/ FIg 3R =g wsft 3T T g
Ry

(d) If Deputy-Speaker is its member, he
heads the committee / afé Iu-3remer gqehT
Hew g, al ag afafa a1 Aqa w=ar g

Ans. (*)

Consider the following terms and arrange
them in Chronological order :

A=fafEa aaf R AR & ik 3¢ FagwAT
i | afedd e

1. Law/ &rfA

2. Bill/ &=t

3. Proposal/ u&rma

4. Act/ afafaam

Select the correct answer from the codes
given below :

+ R g el A 9 98 W @1 9w A
(a)2,3,1,4

(b)4,2,3,1

(c)3,2,4,1

(d)2,3,1,4

Ans. (c)

Where has the tallest rock-cut image of
Narsimha been found?

RIQwgT Y a9 S TgE &l dreas F913 715 ufa=T
gt At 82

(a) Chandpur/ TicqR

(b) Dudhai/ gu$

(c) Deograh/ emTg

(d) Chanderi/ =&

Ans. (b)

In India the Golden Revolution is related
with:

WRd # W shifd T T g

(a) Woolen Production/ S+ Icure

(b) Oil Seeds Production/ fasigs Sdarea

(c) Tourism Development/ wfes e

(d) Horticulture/ armarft

Ans. (d)

From the economic point of view most
important forests are :

arffer gf® & waifdes agaygef a= 8 :

(a) Tidal / SarR
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(b) Evergreen/ Ha1EgR

(c) Tropical Deciduous/ Swrefestfia gufurht
(d) Mountainous/ ugrst

Ans. (c)

In which state of India the percentage of
Schedule Castes is highest?

WRA & e Tsa # srggfaa snfaat o1 ufaee 9ea
3frer 82

(a) Himachal Pradesh/ f@arerer wdsr

(b) Uttar Pradesh/ S<i® wr&ar

(c) West Bangal/ ufgy® svmrer

(d) Punjab/ d<irar

Ans. (d)

Consider the following statements related to

ecological farming:

giRfeafaes @t | Haifda fA=faf@a syt R

R &

1. The basic principle of ecological farming
system is to take production from nature
to its capacity

2. Make minimum interference
natural activity of nature

3. Compensate the exhausted nutrients of
land with the natural nutrients of nature.

1. R FR voreht @1 ge Rigia Seare=
&l Ufa @ ITh! &HdT dh o ST @

2. viepfa i repfaren nafafEt & geeaw gwsy
&

3. o & GHETE gt g ulueh dedl Y WRUTE Upfa
o UThfaes dlueh deal € &1

Which of the above mentioned statements

is/are correct?

Iud<h A & i< °91/9 FU- Tt 8/8?

(a)1and 2

(b)2and 3

(c)1and3

(d)1,2and 3

Ans. (d)

in the

Consider the following statements :
Assertion (A) : The Southern branch of jet
steam influences the formation of winter
season in India to a great extent.

Reason (R) This jet-stream plays an
important role in the cyclones which appear
in North-Western parts of India during the
winter session.

fAafaf@a FyEt R far fifs:

42,
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Z1ar (Q): Sie & & gfyoft anar wra & aféat &

HEH o TS bl hIhl g deh UHTiad hedl 8l

RO (R) : Og Se-URT 3 Tshardl # Ageaqof

fffient FrTelt @ ot ofta o & e WRa & SR-

affyet v A feard 3a &)

Given the correct answer using the code

below Codes :

A g g ge o1 vahT R T IR R mar @)

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A) / g4t (7) aiR
(31R) T & 3R (31R) (Q) h? wet e @

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A) / g4t (Q) &R
%ﬁgwﬁ,ﬁﬁﬁ(am) (T) =1 9t TefteRur

(c) (A) is true but (R) is false/(Q) 9= & |fra
(oR) o1 8

(d) (A) is false but (R) is true/(g) o1 & |fh
(R) T g

Ans. (a)

Consider the following statements :
Assertion (A): Tank is one of the main source
of irrgation in Peninsular India.

Reason (R) : In Peninsular India most of the

rivers are seasonal.

fAefafaa sy R AR &1

gt (Q): uragidia vrd d o fand & g Jial d

d U 2l

&Rl (R) : uragidia wRa & erfdrerier afeat sttt

gl

Given the correct answer using the codes

below : Codes :

1 fg g e 1 vgiT R T SR T T g -

& :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ &+f (Q) &R
(31R) Ty & 3R (31R) (Q) R welt carean 8

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ &Ht (Q) ok
%R%HW% dfe (31R) () =1 Tt weftervor

(c) (A) is true but (R) is false/(T) W= g dfe=
(3R) ggoT 8

(d) (A) is false but (R) is true/(Q) sIoT1 & |fdh=
(3R) w=r 8

Ans.(a)
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Consider the following statements :
Assertion (A) : Much labour is not required
for cultivation of wheat.

Reason (R) : In the cultivation of wheat,

equipments are used more.

Aefafaa syt w AR fifka:

AfFUT (A) : 7 it Deft & g oifdes s hr

STaYhdT gl giell &1

FRYT (R) : A & D<ft 7 Iuereort &1 rfdres st

g 8l

Given the correct answer with the help of

codes given below :

= R g Fe H gergar @ 9t s Rarmar &:

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ &+f (Q) eiiR
(31R) T § 3R (31R) (Q) i wet carean 8

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ =t (Q) 3R (31R)
a4 8, A (3R) (1) ot wgt Tdtanzor 781 8

(c) (A) is true but (R) is false/(T) @ & afha
(3R) o1 @

(d) (A) is false but (R) is true/(g) a7 & SAfh=
(3R) = @

Ans. (a)

Consider the following statements :
Assertion (A) : India's position is second in
the world in fresh water fish production.
Reason (R) : In India there are more than
18000 types of fishes found.
fAafaf@a sy R AR R

3Ry (A) : #i1S ur-ft A go Icue" # RA &1

Ay 7 g T 81

&RYT (R) : YRA # 18000 ¥/ 31fdes HehR ki wafarar

qTs STt €1

Choose the correct answer from the codes.

Fel # | Tt IR gAgl

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ &+f (Q) aii®
(31R) Ty & 3R (31R) () Rt welt sarean @

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ &Mt (Q) ok
%ﬂgw% AferT (31R) () a1 et Tudtervor

(c) (A)is true but (R) is false/(Q) = & Sfer=
(oR) goT @

(d) (A) is false but (R) is true/(Q) sIaT & |fdh=
(R) w=r g

Ans. (b)

45.

46.

47.
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Match List-I with List-II and select the correct
answer by using the codes given below the
lists :

-1 ot GH-11 & gAfaa i ok gikat & i
g g e @1 v R 9E IR g

List-I List-II/

(State) (Atomic Power station)
(A) Gujarat 1. Rawatbhata

(B) Maharashtra 2. Kaiga

(€) Karnataka 3. Kakrapar

(D) Rajasthan 4. Tarapur

Codes :

(A) (B) (C) (D)

(a)1243

(b)3421

(c)2134

(d)4312

Ans. (b)

With reference to the 'Jal Kranti Abhiyan'
which of the following statements is/are
correct?

'Ste shifa Stf¥a= & dgy A fA=fafea 4 9 o=

|1/d Hu= T 8/8?

(1) To increase livehood security through
water security in rural areas.

(2) Adoption and utilization of traditional
knowledge in water conservation and its
management.

(1) umfior &=t & ST gRem & Areaw | sshifaar
GR&1 deTTI

(2) STe1 G=efor 3R IGh Uee_ # URUReh T Al
STOAT 3R ITANT AT

Select the correct answer using the codes

given below :

1 f3q g g &1 vahT R G IR @1 99 KA

(a) I only/ dhaet 1

(b) 2 only/ dheret 2

(c) Both 1 and 2/ g5t 1 3fiR 2

(d) Neither 1 nor 2/ Fat 13RI 2

Ans. (c)

The Union Budget is presented under which
Article of the Constitution of India?

Hhéla gote WRA & GfaE & Ry ergwde & aga
T farar sirar 82

(a) 110

(b) 111

(c) 112

(d) 122

Ans. (c)
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Tje forst 'Deendayal handicraft Sakul' trade
facilitation centre is located at :

&5t sl 'deare sfey 9’ AR gl &
fag:

(a) Prayagraj/ warRrs

(b) Agra/ 3mRT

(c) Kanpur/ &FYR

(d) Varansai/ arrorf

Ans. (d)

The 14th Finance Commission recommended
among other things, to raise the shared of
states in the net proceeds of divisible pool of
central tax to:

143 far et A o7 aTal o ST, FET IR &
e ga 6t g oma | sl & R & de =
RmfRRer i

(a) 32%

(b) 29.5%

(c) 45%

(d) 42%

Ans. (d)

The Data Security Council of India (DSCI of
NASSCOM signed an agreement with which
state-government to set up the 'Centre of
Excellence’ of cyber security?

WReta 3er Fram uRug (NASSCOM & DSCI) 3
HIFaR GR&M & 'Ipedl shg' il TuTg= & forg forw
ST YRR & T Yeh U IR g&1er fFu &2
(a) Andhra Pradesh/ afisr waer

(b) Tamil Nadu/ affe=rg

(c) Telangana/ d<ivm=m

(d) Karnataka/ s-ifesh

Ans. (c)

Which of the following is not the function of

Reserve Bank of India (RBI)?

fAafafeaa § 9 a9 R Reid 9 (RBI) &1 @it

T8 82

(a) Issue of bank notes/ s e SR =T

(b) Banker to Government/ 9R&hR & S

(c) To open saving bank account for general
public/ ¥ SHaT & AT F9a da @rar @ie=
& farg

(d) Custodian of cash reserves of Commercial
Banks/ arfolfSres Sl o Tehg WS kT TReleh

Ans. (c)

52.

53.

54.

55.

56.
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India gets the largest share of its G.D.P. from
which of the following sectors?

WR &l U Hehel U, IS hl T FT fgwm
e 21 Pafef@ad S g aa @2

(a) Agriculture Sector/ Y &=

(b) Industry Sector/ Izl &=

(c) Service Sector/ @=r &=

(d) None of the above/ IuRiwh # @ i &l

Ans. (c)

The author of 'Planned Economy for India’ is
'qRd & forw R srfeasur & d@w &

(a) Sir M. Visvesvaraya/ &= ud fasisRran

(b) Dr. K.P. Sector/ St &.4. &=

(c) K.M. Munshi/ &.g#. gaft

(d) C.v. Raman/ . ft. ==

Ans. (a)

Which of the apex institution in the shpere of
agricultural financing in India?

WA A FHiS faatwor & &= 7 2fid deun 7 @ i #ft
8

(a) Corporation Bank/ siaiRe ok

(b) Co-operative Bank/ Gga&tt ek

(c) Regional Rural Banks/ &sfta arfior da

(d) NABARD/ A1aTE

Ans. (a)

The main reason for the growth of money

supply in India since 1990 is :

1990 & aTg & WRa # Jar myfet F gieg o1 ge=a

THRUT &

(a) Taxation/ s=rems

(b) Foreign borrowing/ fazaft 3ur

(c) RBI credit to the government/ ER&R @&l
ARt shfee

(d) Budgetary expenditure/ ssiéla aoa

Ans. (b)

'Special Drawing Rights' (SDRs) is available

at:

'fagiy emgRur SifderR’ (TUSieR) ugi Iuey &:

(a) IBRD/World Bank/ rgcftemzs / fay 9=

(b) IMF/ T$QAT®

(c) International Development Association/
iRy faeera €@

(d) OECD/ sis<fiEt

Ans. (b)
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Who amongst the following brought out
"Voice of India"?

f=faf@a d @ fra "atgg offw e &
ufarares farar?

(a) Surendra Nath Bannerjee/ g3 =T 1ot
(b) Dada Bhai Naoroji/ &rer s RISt

(c) Bal Gangadhar Tilak/ aret 7imeR faer<ht

(d) Christopher Paul/ foheei®: afet

Ans. (b)

By which rule the Sati-Pratha was stopped?
el uAT i o Raw @ Aewr man?

(a) Rule X11/ fAs XII

(b) Rule X1V/ A= X1V

(c) Rule XV/ fAam Xv

(d) Rule XVII/ fAms XVII

Ans. (d)

Which of the following

matched?

Fafafaa 9 9 o ad grfea adi g?

(a) Pindari War/ fdst gg - Lord Hastings/
@td afa

(b) First Afghan War/ gg«l 31%TH g5 - Lord
Auckland/ 7S 3iferdis

(C) Annexation of Sindh/ &« =1 fa=/ - Lord
Ellenborough/ wf€ gaqe=rt

(d) second Sikh War/ g&<r @@ gg - Lord
hardinge/ «itg gifén

Ans. (d)

is not correctly

Match List-I with List-II and select the correct
answer by using the codes given below the
lists :

-1 ) -1 @ gafre Ry ok gieat & 9
g g ge &1 vkt R Jat 9 g

List-I List-II

(A) Royal title Act 1. 1860

(B) Indian Civil Services Act 2. 1929

(C) Ssharda Act 3.1904

(D) Indian Universities Act 4. 1876

Codes :

(A) (B) (€) (D)

(a)3214

(b)4321

(c)a312

(d)1324

Ans. (*)

61.

62.

63.
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Match List-I with List-II. and select the
correct answer by using the codes given
below the lists :

gAY-1 &t -1 & a1 gafera &2 ok gRat &
= g 7TQ e 1 uaiT R T IR H1 T9H H:

List-I List-II
(A) vaishesik Philosophy 1. Gautam/ s
(B) sankhya Philosophy 2. Patanjali/
(C) Yoga Philosophy 3. Kanada
(D) Nyaya Philosophy 4. Kapila
Codes:
(A) (B) () (D)
(a)3421
(b)3241
(c)2341
(d)3214
Ans. (a)

Consider the following events and arrange

these in a chronological order :

Ao gearsit & AR &R ok 38 FegsAT

A # afeda a:

1. Battle of Ghaghar/ aredt 1 g%

2. Birth of Akbar/ 3feheRR T ST+

3. Battle of Chausa/ =1 &1 3%

4. Hamaun\s Kalinjar expedition/ gATST &1
Fifeior sifdar=

With the help of code given below choose the

correct answer :

H g g e fi Tgraar @ 98 W F1 T

e :

Codes:

(a)1324

(b)2134

(c)1432

(d)123

Ans. (c)

Who was the Sultan of Delhi at the time of
Timur's invasion?

AR & ATRACT & FHY Rt o1 o i UT?

(a) Ghiyasuddin tughlaq/ Tag& geies

(b) Feroz Tughlaq/ fRIst qireten

(c) Abubakr Shah/ 3rgaez amgt

(d) Nasiruddin Mahmud Tuglagq/ =&

HEqE Jrereht

Ans. (d)
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What was the real name of Birbal?
HRae T AT AT T AT?

(a) Ramdas/ JHE™

(b) Shyamdas/ am™e™

(c) Maheshdas/ AgsreE™

(d) Bhagwandas/ W arars

Ans. (c)

Who built kabulibagh Musque at panipat :
artaa | shrgeitanT Afe a1 fArfor fram ereamar
(a) Akbar/ 3teReR

(b) Aurangzeb/ RTsier

(c) Babar/ st

(d) Ibrahim Lodi/ gsifew s

Ans. (c)

The famous literary work 'Kitabul Hindi' was
written by :

T oft:

(a) Alberuni/ SreTars=t

(b) Badayuni/ =g~

(c) Zia-ud-did Barni/ faar-3e-&ig a<=f
(d) Kaphi-khan/ @dh-@m

Ans. (a)

Who was the Peshwa when the third Battle of
Panipat was fought in 1761?

1761 & w1a urfiua &t Hrad e af 7 A a=
URAET i UT?

(a) Baji Rao I/ arsft s/ I

(b) Balaji Bajirao/ areIrsft arsfiRTa

(c) Madhava Rao/ |T1ea Ta

(d) Baji Rao 11/ arsft T4 11

Ans. (b)

Who of the following kings has been called

'‘Saptam Chakravarty'?

fAafafaa 7 9 g ToT &t 'S gehadi’ wgr

T 8?

(a) Mihir Bhoja/ fafgz sis:

(b) Bhoja Parmar/ ¥ist 4r9R

(c) Someshvara Ahavamalla
HRR gaHe1 aIqed:

(d) Kama Kalachuri/ @& sergst

Ans. (d)

Chalukya/

69.

70.

71.

72.

73.
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Which inscription fo king Harshvardhan has
his own signature on it?

1T g¥aefq o foRT fAeeg uR 399ah W & g a1er
8?

(a) Madhuban inscription/ Aye A=

(b) Banskheda inscription/ sig@sr fa=mea
(C) Nalanda inscription/ ATeigr fTerg

(d) Sonipat inscription/ Sisftua e

Ans. (b)

Which one of the following Jain texts
described the rules for Jaina monks?
FAafaf@a 7 @ frg 99 gy 7 |9 Meggei & foag
At e quie 82

(a) Acharangasutra/ =R

(b) Bhagavati-sutra/ rreei-g

(c) Kalika-Purana/ amiferert-gRroT

(d) Bhadrabahcucharita/ wzarggaia

Ans. (a)

Which Indian ruler appointed
Dharmamahamatra’ for the first time?

fora wRdg e 7 uget IR efagmnEn i Aghie
&r?

(a) Chandragupta Maurya/ s

(b) Samudragupta/ 9

(c) Harshvardhan/ gffasf:

(d) Ashoka/ s12iter

Ans. (d)

From which city of Indus Valley Civilisation
do we get the evidence of the conservation of
potable water?

R arét Fazan o foh 28R | &4 dawTe & w@xefuT
10T fAed &2

(a) Mohan Jodaro/ #ig= sitest

(b) Lothal/ situret

(c) Kalibanga/ =hreftsiT

(d) Dholavira/ si<reiiRT

Ans. (d)

Who amongst the following ruler of the
Chalukyas of Vatapi also maintained
diplomatic relations with Iran?

arardt & arget & Fafaf@a et 7 9 fFaa
R & 1Y TS oy ! 9910 T@n?

(a) Jayasimba/ srafdwn

(b) Pulakesin II/ gerchf= II

(c) Vikramaditya I/ fsrafeea I

(d) Vikramaditya I1/ fasrmfee faha

Ans. (b)
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Who amongst the following was also a poet
and a musician and took delight in his title of
Kaviraja' of The King of Poets?

Fafaf@a d @ &9 e & ok d@iflaear oft ur sz
ahfarTet it 1ot ST 'R’ @ v ur?

(a) chandragupta/ d=ge

(b) Samudragupta/ I

(c) Skandgupta/ Ehee

(d) None of the above/ SuRiwh # & i &Y

Ans. (b)

Which of the following kings of Rashtrakuta
dynasty built the famous Kaliash temple of
Ellora?

AEge 421 & Ffaf@a § | ffa won 3 ek &
ufg srferansr wfer a1 Aafor sRreamar ur?

(a) Dantiverman/des=

(b) Krishna I/ geom I

(c) Dhruva/ ga:

(d) Govinda III/ mifaer I1I

Ans. (b)

Which of the following Greek historians has
been called the 'Father of History'?
A=fafea 7 | fora gari sfear & 'sfagm &
STIeh' hgl TaT 82

(a) Nearchus/ fAa=gs

(b) Herodotus/ gltstleq

(c) Aristotal F./ 3R&] UwI

(d) Megasthenes/ Amufst

Ans. (b)

Which one of the following temples has been

described as 'a landmark in the evolution of

the building art' by Percy Brown?

gt sree gR1 fAfafEa d @ g afr &t 'vae

&helT & faera & s Hie o1 ueR’ aqrar ar 82

(a) Brihadishvara temple at Tanjore/ d<ik &
FedaR AfeR

(b) Brihadish yara temple
Gangaikondacholapuram/

at

TTdehleTatergRd # ggdier arT Al
(c) Shore temple at Mumallapuram/
HHATYRH | 2R wfeR

(d) Kailasa temp at Ellora/ ekt # chemier
argHT=
Ans. (a)

78.

79.

80.

81.
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Which of the following book/books are not
written by Kalidas?

Aafaf@a & @ a9 @ gaw/gas Fifee™ gr
g1 foeht s @2

1. Ritusamhara/ wqHeR

2. Kiratarjuniya/ foRma=sfaar

3. Mrichhkatikam/ q=sfean
4. Malbikagnimitram/ aTafaeifa@=s

Select the correct answer using the code
given below :

1 RRg 71q e o1 uahT R SE SR ghg

Codes :

(a)Ionly

(b) 1 and 2 both

(c)2and 3

(d)1,2,3,4

Ans. (C)

How many image of Yoginis are preserved in
the "Chaunsatha Yogini Temple" at
Bheraghat?

WRraTe & " A AfeR” 7 aiffaat i faraet
afeaTd w:fara &2

(a) 64

(b) 54

(c) 81

(d) 74

Ans. (c)

Who has given as excellent description of the
surgical instruments in ancient India?

Ui YR | e fRifchear Iuaron &1 Iepe faaror
fre e @2

(a) Charaka/ ==’

(b) Aryabhatta/ sirferg

(c) Sushruta/ gga:

(d) vamanacharya/ am=ramt

Ans. (c)

Which of the following books is known as
"Shatsahastri Samhita" :
fA=fafEa § @ & ot g "aagsh dfgar &
a9 I S STt @

(a) Brihatsamhita/ ggasifgar

(b) Mahabharata/ #gTyRa

(c) Ramayana/ =TT

(d) Manusmriti/ agsgfa

Ans. (b)
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Name the missile test-fired successfully on
May 21, 2018 from the Odisha coast, which
was an Indo-Russian joint venture :

21 74, 2018 & Af3m e @ gwheagds vafa
fAaTEe @1 9 Fa1Ey, St gd WRA-E9 S+ JaH
T

(a) Agni-5/ aifw -5

(b) Brahmos/ sigis

(c) Prithvi-11/ gaft-fZda

(d) Sarmat/ I=aTdY

Ans. (b)

Which of the following statements is/are

true:

A=afafaa d @ &9 a1/a &= 9 &/8:

1. Agni-5 is country's longest-range surface
to air inter-Continental Ballistic Missile
(1IcBM)

2. It full range is more than 5000 k.m. 3. It
was launched from Sriharikota (Andhra
Pradesh)

4. Indiajoined the elite club of U.S.A., russia,
France and China by successfully test
firing nuclear caapble Agni 5

1. 4fA-5 321 Fr GaA &elt gt Fr qag @ gar A
AR & arelt SieaR-AgTgidg dfafes A
(IcBM) &1

2. zHh i 31 5000 fret @ arfds 81 3. 3@
shigRenter (srisr weer) @ wv—a farar mar ami

4. URHTY] He1H A 5 T Thed GIETUT Thich WRA
g.qd.Q., &4, Hid 3R &9 & Fefla aa &
A« gt mam

Select the correct answer from the code :

% J Tl IWR &1 99+ hfAg

Code:

(a)1,2,3

(b)1,2,4

(€)2,3,4

(d) 2,4

Ans. (d)

Match List-I with List-II and select the correct
answer by using the codes given below the
lists :

gHt-1 t EA-11 @ gafaa fifeig ok gt & =
g g ge &1 v wR TE IR g

List-I List-II

(A)98.4 F 1. Atmospheric pressure

(B) 76 cm of Hg 2. Human blood pressure

(c) 8o/120 3. Body Temperature

(D)321b 4. Tyre-pressure of Car

85.

86.

87.
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Codes :

(A) (B) (€) (D)
(a)3124
(b)2134
(c)1342
(d)4231
Ans. (a)

Match List-I with List-II and select the correct
answer by using the codes given below the
lists :
-1 R G-I @ g Rfeg ok gfel & A
g g e @1 v R T9E IER g
List-I List-II
(Name of Test) (Name of disease)
(A) Mantoux Test 1. AIDS/ g3H
(B) Elisa Text 2. Dengue fever
(€) widal Test 3. Tuberculosis
(D) Tourniquet 4. Typhoid Test
Codes :
(A) (B) (C) (D)
(a)3124
(b)4123
(c)2314
(d)3142
Ans. (d)

In which kind of pot food will be cooked
faster?

fora a3g & 9= & @™ S Uk SITe?

(a) Steel/ &«

(b) Copper/ wia=

(c) silver/ =&

(d) Bronze/ siea

Ans. (c)

What is true of RADAR?

USR oh IR J -1 99 82

(a) This is a technique to see hidden objects/
ag Bt g axgeil ol 3@ & g aaia 8

(b) This is method to detect fighter planes/
g dSTg fasi o gar e+ i fafd @

(c) This is a method to send coded message/
g hifed Geer s fl g fAfar @

(d) This method is only for night vision/ ag
Ry Faeaafr g fage

Ans. (b)
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About what percentage of the World's fresh
water is in Antarctica?

fasy & arst ur=ht 1 ST foRa=T ufaera sierhfeanT
#g?

(a) 50

(b) 40

(c) 70

(d) 100

Ans. (c)

Which of the following causes more severe
burns?

Aafafaa d @ &= aifde 11k ST &1 wRoTr
94T 82

(a) Boiling water/ Iseid ar=it

(b) Hot water/ 7+ ar=ft

(c) Steam/ vma

(d) Melting iceberg/ foae= Tt fgues

Ans. (C)

Which of the following celestial bodies
contains abundant quantities of Helium-3, a
potential source of energy?

Rrafaf@a & | fra @m«ig fie d Seif & dwnfaa
Hia giferas-3 & ugR am=r g2

(a) Earth/ geaft

(b) Saturn/ 2™

(c) Venus/ sk

(d) Moon/ =ig#T

Ans. (b and d both)

Which of the following is the strongest force
in nature?

A=fafEa 4 9 o vgfa § 998 Aeegd T« 82

(a) Gravitational force/ TEeaertor I

(b) Nuclear force/ u=ATY] oIt

(c) Electrostatic force/ saaeieies a1

(d) Magnetic force/ gahia s«

Ans. (b)

Consider the following statements and select

correct answer from the codes given below :

1. In solar cooker concave mirror is used

2. In loud speaker electrical energy is
convicted into sound energy

3. In motor electrical energy is converted
into mechanical energy

A=fefEa sui R AR &R ik R Ryaggpe @

HEl IR T T BN

1. HieR Fax d faad gdor &1 vt forar sirar g

93.

94.

95.

96.
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2. wss Wiaw # fagga et ot w@fy Fwif J it
ST STl &

3. #ieR A faega it &t gifae it & aRafda
forar Sirar @

Codes :

(a) only 1 and 2

(b) only 2 and 3

(c) only3and 1

(d)all1,2and 3

Ans. (d)

Sun is getting energy from which of the
following?

o Ffaf@a 7 3 fras seif ayra = @ g?

(a) Nuclear Fission/ gzsmo] @@=+

(b) Chemical Reaction/ Irmafaes ufaferar

(c) Nuclear Fusion/ T=HT0] Heta=

(d) Photoelectric Effect/ wiigatfares uuma
Ans. (c)

Jarvic7is:

Sifder 78

(a) Pace maker/ 99 AR

(b) Artificial limb/ 3w 3

(c) Artificial heart/ f3w e

(d) Artificial Cornea/ gfa= wif-rar
Ans. (c)

Which of the following statements is not true

about the optical fibers?

JMiffeehe BIgeR & IR d RAfaf@a d @ s ar sy

g gl 82

(a) They provide longer number of
connectivity for telephones/ @& afiwle &
forg sift Teea § AR e wd &

(b) They are less nois/ FA AR T @ &

(c) They are cheaper/ d 9= &

(d) They have longer life-time/ 3 U a1
Sfiaerter 8

Ans. (c)

The largest organ of human body is :
AHY IR hT A JST 3T 8 -

(a) Liver/ #fieR

(b) Intestine/ 31id

(c) Urinary bladder / = =2

(d) Skin/ wr=r

Ans. (d)
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Which of the following diseases are/is caused
by bacteria?

Arafaf@a & @ wi=-a1/@ 3 Ssharey @ giar &/82
1. Leprosy/ &8 T

2. Plague/ =

3. Mumps/ HUSHTAT

4. Polio/ uiferat

Select the correct answer using the code
given below : =3 f&g 7 e &1 uahT TR T 3R
g :

Codes :

(a) 1 and 3 are correct/1 3R 3 T&t &

(b) 1 and 2 are correct/1 3R 2 & &

(c) 1, 2 and 3 are correct/1, 2 3R 3T &

(d) All are correct/ aft agt &

Ans. (b)

In Information Technology HTML represents:

g1 vrenfh d HTML @ ufafafds wean g:

(a) Human Text markup Language/ A= UTS
AT HTHT

(b) High Text Markup Language/ I=a Uis
AThSTT HTHT

(c) Hybrid Text Markup Language/ gisfsrs
e ATcharg st

(d) Hyper Text Markup Language/ 88U deR<
AThST ddst

Ans. (d)

Which gas plays main role in the Green House
effect?

M gew uura # o= 9 gea yfaenr A 82
(a) H2

(b) N2

(c) co2

(d) so2

Ans. (c)

Which of the following has the highest pH?
A=feaf@a A 9 faenr pH Saaa 82

(a) Gastric juice/ Afesw ™

(b) Bile in the gall baldder/ fo= Y d<ft & fo=
(c) Pancreatic juice/ sr=TRft T

(d) saliva/ IR

Ans. (c)

Which of the following is not true for nano

materials?

=t art & fog PefefR@a A @ s ar g adi 82

(a) Nano-carbon is stronger than steel/ a=t-
I el & SareT Jelgd @
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(b) Nano-fiber cloths do not get dirty/ a-i-

(c) Nano-medicined will be more effective/)
A-sftusfia erfdes guret g

(d) Homeopathy  uses nano-materials/
ghatdef A=t-arrft &1 SuahT wRdt @

Ans. (d)

The working of LED system is based on which
principle?

LED womref! oh1 o fohe fRIgia ur emmenRa &2

(a) Fluorescence/ ufadifey

(b) Phosphorescence/ BiehREH

(c) Electroluminescence/ seiagisgfa~fads

(d) None of the above/ Su<h # & i g}
Ans. (c)

Who amongst the following leaders
published "New Lamps for Old"?
FAafaf@a Aarsi 4 @ fFra "R & forg ar o
yehTiAd foha?

(a) Bipin chandra Pal/ fafo= <z grer

(b) Surendra nath Bannerjee/ 3% w1 S=Isft
(c) Gopal Krishna Gokhale/ Taret greor Maet
(d) Aurobindo Khosh/faE} @tait

Ans. (d)

When was the "Dak-Khana Act" passed?
" STeh-@TH HfAfaw" wa arlRe farar mar ur?
(a) 1852
(b) 1853
(c) 1854
(d) 1855
Ans. (C)

The core of the transformer is laminated so

asto:

TIRIHR oh iR &l AffAe frar sirar @ arfes:

(a) reduce energy loss due to eddy current/
TS T o hIRUT Holl @I ehl & he

(b) make it robust and strong/ & #eIgd R
AT a1

(c) increase the secondary voltage/ sTeafaes
At Tery

(d) make it light weight/ 38 g1 a1 a1t

Ans. (a)
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The International Women-Entrepreneurs
Summit was held from September 3, 2018 to
September 5, 2018 in which country?

SRt afgern-genft AR gwtem 3 Rder, 2018 @
5 AR, 2018 dek foha 3 & emaifSia fowam mam ar?
(a) India/ wRa

(b) UK. / g.3.

(c) US.A./g.gE.Q.

(d) Nepal / Jurer

Ans. (d)

Which country has become a popular hub of
medical tourism?

&I a1 221 FRifereaT wdfest o1 At Fg o maT @2
(a) Maxico/ afeRrent

(b) India/ ¥wRa

(c) Malaysia/ w=tfrar

(d) Brazil/ sisfier

Ans. (b)

Which of the following will be the host
country for the official World Tourism Day
Celebrations in 2019?

Afaf@a d§ @ a9 2019 & sfdemiRes Ay udea
Raa guRIg &1 Asta= 221 ghm?

(a) Spain/ &&=

(b) Thailand/ ur$ds

(c) India/ ¥ Ra

(d) Romania/ J=faaT

Ans. (c)

The book entitled "Twilights Children" is
based on the lives of people suffering from?
Sfter R amerRa &2

(a) AIDS/ TgH

(b) Down syndrome/ s1s+ fgin

(c) Cancer/ &=

(d) Blindness/ 3igmu=

Ans. (b)

Which country levied a tax on Whatts App
and Facebook in June 2018?

S 2018 # fohe 321 7 cgTeHqY 3R haged W &R
EaT?

(a) Uganda/ gmmi=t

(b) Zambia/ Sfear

(c) Zimbawe/ fSw=ma

(d) Ranzania/ IsfAar

Ans. (a)
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The "Me Too" campaign has been initiated to

help which of the following?

A=fafeEa 7 | fFadh agg & @y "t " sifa=

= forar mar 82

(a) Below Poverty Line Women/ Tt ¥ar @
= afgemd

(b) SC/ST Category/ gat / gadt sivft

(c) Sexually harassed women/ @9 Iafte areft
Afgemd

(d) ST/ST Women/ Tadl / gadt afgen

Ans. (c)

Who won the Women Single's title in the U.S.
Opens Tennis Tournament, 2018?

gue oftue A gafde, 2018 # afgem gorer @1
f&ae fora= sfiar?

(a) Serena Williams/ @1 faferasg

(b) Anastasija Sevastoa/ ARSI Yawta
(c) Naomi Osaka/ srsit¥t eftETert

(d) Elena Vesnina/ @&+ af@=m

Ans. (c)

Two Indians, Dr. Bharat Vatwani and Sonam

Wangchuk, recived a prestigious award on

31st August, 2018. Name the award?

g R, ST, R geart R TEw aiTgs 3 31

3T, 2018 @l Uah ufafdd grear ure faram

QERR Rl AT Jd14?

(a) World Excellence Award, 2018/ fasy
IpEdl YRR, 2018

(b) Nikkei Asia Prize, 2018/ fAa<hd ufar
ISR, 2018

(c) KISS Humanitarian Award, 2018/ da=1
A qRERRR, 2018

(d) Roman Magsaysay Award, 2018/ ==
Y RERR, 2018

Ans. (d)

The World Cup Hockey Tournament which
was organized in November, 2018 in which of
the following cities of India?

fay wu gidh gafde st adeR, 2018 § WRa &
fAeafafaa A 9 fra gz d smafaa forar mar an?
(a) New Delhi/ 7€ =it

(b) Bhubaneshwar/ a%R

(c) Puri/ g&

(d) Kolkata/ srieTepraT

Ans. (b)
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115. Consider the following statements and give (b) It is made up of carbon atoms/ Tg e
the correct answer using the codes given oRATISH & ST 8
below: (C) It is a giant molecule/ ag Qe fasme sy 8
Aafaf@a syt or R &R ik iR Ru g e (d) All the four valence electrons are be
T AN R gt IR &: either to ach carbon atom by covalent
1. The United National Secretary-General bonds/ |t aR adw getaeiA ar at HgHAteTR
declared 2019-2028 as the Nelson Ut ZRT e u=HTY] & g g &
Mandela Decade of Peace on September Ans. (d)
25, 2018.
2. He also unveiled statue of Nelson 119. Which one of the following makes India's
Mandela at the U.N. on Manedela's 100 maritime boundary with Maldives?
birth anniversary. fFrafaf@a 7 @ a9 aadla & ary swra & 998
1. Eg~h a¥a AR A 25 AR, 2018 Ht AT F91aT 872
2019-2028 &l A+ HIT QMifd 21 & a4 & (a) Great Channel/ ¥e 39«1
afte fram (b) Coco Channel/ iRt 391
2. I aSar i 100 st R Ty g A (c) Eight degree Channel/ 3is f&ift A9«
Aeq= g1 Y ufaHT 1 3rTERT off foRaT (d) None of the above/ IuRiwh & @ i Tl
Codes : Ans. (c)
(a) Both 1 and 2 are correct/1 iR 2 Ei=1 Tgt &
(b) 2 only/ et 2 120. Which of the following statements is not
(c) 1 only/ 2haet Qe correct?
(d) None of the above/ Su<h # & i g} fA=afafaa & @ a9 a1 Fy= 9 3 82
Ans. (a) (a) Passive euthanasia was made legal in
India by Supreme Court of India in 2018./
116. Which of the following is correct pledge set 2018 ® YR & Hdlwa UM ZRT YRd &
for the countries to limit their temperature fAfeha swereg ot S a9 R war am
by 2050 by a U.N. body? (b) for passive euthanasia, patients must
A=fafEa | @ o9 a1 9g+ ag e gri o & consent through a living will/ fRfska
faT 2050 a6 sro= argwE @t HAT FA & Ay oM & fog, AfMal ot g Shifda swor &
RAuffRa ot ufasn @2 areaw @ ggafa & ghft
(a) toreduce temperature by 1.5 C/ arg== 1.5 (c) The judgment was passed by a 5-member
. 9 o & o Constitution Bench of Supreme Court in
(b) to reduce temperature by 2 C/ araa <t 2 case of Pinki Virani/ fddh fa=r=it & amst &
. A o fag gofiw & & 5 geediy d@faum dis grr Aok
(c) to reduce temperature by 1 C/ ama== &t grfe ferar mar ur
1&t . FH &A@ fAg (d) For passive euthanasia patients must be
(d) None of the above/ arqa= &t 1 . &0 either terminally ill or in a vegetative
A & fag state/ Rfsha swomeg & A ATt & ar at
Ans. (a) AR U @ fiur g=r aflde a1 a=wafas
<yt # giAT "nfge
117. 'Athelete foot' is a disease caused by : Ans. (c)
'TUeAle e’ Qe I ¢ St fhes dRuT gl g -
(a) Bacteria/ asiRar 121. With reference to human blood which of the
(b) Fungi/ wa= following statements is/are correct?
(c) Protozoa/ wiatsitem Ad 6 & e # fA=faf@a & @ o9 a1/d su=
(d) Nematode/ AATES g g/a?
Ans. (b) 1. In a healthy male the percentage of
haemoglobin is more as compared to
118. Diamond is hard because : what it is in a normal healthy female.
BRT FHoR glan g Fife :
(a) It cannot be burnt/ 3@ STA™T A} SIT ehdl
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2. The normal value of platelet counts in
human blood ranges from 2,00,000 to
4,50,000 c.m.m.

1. Uoh @Y YFY | gteiad o1 ufaea =
ey Afgen & ga=m d oifda gar 81

2. HAG Rh A e HINE T G A
2,00,000 & 4,50,000 c.m.m d<h g4t &1

Select the correct answer using the code give

below:

= R g Fe o1 uahT R T9@ 3w g

Codes:

(a) 1 only/ ahaet 1

(b) 2 only/ et 2

(c) Both 1 and 2/ gHi 1 3k 2

(d) Neither 1 nor2/aat13iRa& 2

Ans. (c)

Which kind of engine is likely to have
minimum pollution?

e R & 919 # <gAaH ugyuT g Y HHTaT 8?2
(a) Petrol engine/ d¢iet g511

(b) Gas engine/ ¥ g1

(c) Diesel engine/ S5t g5

(d) Kerosene engine/ i+ g5

Ans. (b)

Consider the following statements and

choose the correct answer using the code

given below :

A=fafEa syt R faar &R ik R Ry g ge

T TN R el IR A

1. In 1968 first case of AIDS control in India.

2. In 1992 India's first AIDS control
programme 91992-1999) was launched
and also National AIDS Control
Organization (NACO) was constituted to
implement the program. The National
Council on AIDS is chaired by the Prime
Minister.

1. 1968 ® WRa # YsH =01 &1 ugenm AT
A T

2. 1992 § WRA &1 Ugell YgH [dFur &risa
91992-1999) 2= foram AT Ut 3R FRfshT &l
o e & g ade ggw e e
(NACO) @t ot 71+ foham T Ul gsd = A
uRug &t sregerar uu w3t @ g1

Codes :

(a)1and 3

(b)2and 3

(c)1and2

(d) All the above Ans. (b)
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Which reference to cancer, which of the

following statements is/are correct?

HeR &1 i T ", Fafaf@a d @ sl ar/a

%Y |l 8/8?

1. Fine Needle Aspiration (FNA) biopsy is
related to cancer,

2. Carbon-di-oxide laser is
removing brain tumour.

1. w1E fiea vl = (FNA) s R 3@

2. SR B R FA & g wrda-sn-sifeams
SSIR T IUANT AT SITeT g1

Select the correct answer using the code

given below :

1 R ¢ e o1 gkt = SE SR gAg

Codes :

(a) I only/ a1

(b) 2 only/ dheret 2

(c) Both 1 and 2/ g 1 3k 2

(d) Neither 1 nor 2/ Fat13iRaT& 2

Ans. (c)

©:7737746465
www.LinkingLaws.com

used for

Which of the following is not caused by
bacteria?

fAafafEa 7 @ i SadfRar & wror 3@ glar g2
(a) Malaria/ saifar

(b) Typhoid/ erghrss

(c) Diptheria/ fevfiar

(d) Tetanus/ &9

Ans. (a)

Match List-I with List-II and select the correct
answer by using the codes given below the
lists:

gHi-1 ot gH-11 & gafea Fifsg ok gfkat & i
g g ge &1 v R Jat IW g
List-I List-II
(A) Internet speed 1.8 G.B.
(B) Pen-drive memory 2. Mbps
(C) Face-book 3. E-mail

(D) Yahoo
Codes :

(A) (B) (€) (D)
(a)1423
(b)2143
(c)3241
(d)1234
Ans. (b)

4. Social media
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Match List-I with List-II and select the correct
answer by using the codes given below the
lists :
-1 ot GH-11 & gAfaa fifsg ok gfai & Ffig
g g Fe @1 vt R HE IR g

List-1 List-II
(A) Tropical Forest 1. Sunderbans
(B) Coniferous Forest 2. Rajasthan
(C) Mangroves Forest 3. Minachal Pradesh
(D) Deciduous Forest 4. Silent Valley
Codes :
(A) (B) (C) (D)
(a)1243
(b)4312
(c)2134
(d)3421
Ans. (b)

Match List-I with List-II and select the correct
answer by using the codes given below the
lists :

gH-I t FEA-11 @ gafaa fifSg oiz gfat & =
g g ge &1 v wR J8 IR g
List-I List-II
(Sea Port) (State)
(A) Alleppy 1. Andhra Pradesh
(B) Ennore 2. Odisha
(C) Paradip 3. Kerala
(D) Kakinada 4. Tamil Nadu
Codes :
(A) (B) (€) (D)
(a)4312
(b)1243
(c)2134
(d)3421
Ans. (d)

Match List-I with List-II and select the correct
answer by using the codes given below the
lists :

gHi-1 t EA-11 @ gafaa fifeig ofk gt & =
g g ge @1 v wR TE IR g
List-I List-II

(Dam Project) (State)

(A) Ghat Prabha Odisha

(B) Ukai Maharashtra
(C) Hirakund Karnataka
(D) Koyana Gujarrat
Codes :

(A) (B) (C) (D)

(a)4213
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(b)1324
(c)3412
(d)2134
Ans. (c)

On what percentage of the total agricultural
land food crops are grown in India?

WRA # gt FfY YA & fFa=t vl R @rer wad
I SATedt €2

(a) 60%

(b) 70%

(c) 80%

(d) 85%

Ans. (a)

World's highest road is in India where is it?
fasy &t 9o S g YRA A Fgi e ?

(a) Leh and Srinagar/ g iR sfiR

(b) Leh and Manali/ @g 3R A1t

(c) Srinagar and Jammu/ sfFTR 3R s/

(d) Jammu and Shimla/ %9 31z fywer

Ans. (*)

Which of the following states has largest
production of rice?

Fafaf@a 4 @ fore ava | g &1 9@ 6l
Ieare giar 8?

(a) uttar Pradesh/ IR w21

(b) West Bengal/ affj swmret

(c) Punjab/ dsita

(d) Andhra Pradesh/ 3fisr wsr

Ans. (b)

According to India State of Forest Report
(ISFR) 2017 percentage of forest cover in
India has increased by :

3f3ar Ve 3ifh v Rulé (Smuauwanm) 2017 &
IR WRd ® a1 ThaR T UfArd I¢1 8:

(a) 0.49%

(b) 1.20%

(c) 0.94%

(d) 0.54%

Ans. (c)

134. Gas Authority of India Limited has built a

network of natural
covering a length of:
9 Ui sifw fear fafats A urpfas iw &=
UTSUTS bl Ueh Acadh 99147 & foadhl wiars fera+ht
&

(a) 6,400 km

gas trunk pipeline
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(b) 15,600 km
(c) 8,700 km
(d) 40,000 km
Ans. (c)

How many islands are there is Lakshadweep?
a1l # foha fu &2

(a) 17

(b) 27

(c) 36

(d) 41

Ans. (c)

Which of the following is not correctly
matched?

A=fafla 9 9 o= a8 gafaa agi 82
National Parks States

(a) Intauki - Nagaland
(b) Singlila - West Bengal
(c) Betla - Meghalaya
(d) Tadoba - Maharashtra
Ans. (c)

Union Vabient has approved establishment

of National Institute of Mental Health and

Rehabilitation in :

gfaga dfdde 3 wflg aafde @ ok gaafs

HEYTH Y TUTIT ot HoH & &

(a) Sehore District (Madhya Pradesh)/ #figik
S (wem wan)

(b) Deoria District (Uttar Pradesh)/ afar
fore (SR wan)

(c) Ballia District (Uttar Pradesh)/ aferar fSer
(SR wan)

(d) Katni District (Madhya Pradesh)/ @me-t
o (e udan)

Ans. (a)

Consider the following statements and select
the correct answer using the codes given
below :

e syt o= faar &R ik R Ry g ge

T TANT R gl IR T TG4 he:

1. 'Title' is the name given to the sovere
cyclonic storm rising from the Bay of
Bangal on 11.10.18

2. The two Indian states worst hit by it are
Odisha and Andhra Pradesh.

1. '2fifer’ 11.10.18 =t et il @t | I3 A=
ftwor Tehardt g @ far mar A @1
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2. 399 9@ SgrEr yuifad & WRda wg sifam
3R 3risr w2er g1

Codes :

(a) 2 only

(b) 1 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Ans. (c)

Name the dissenting judge of the Supreme
Court verdict in the Sabarimala
Devasthanam Case :

HEHATAT 3aEUEH A d GiiF HiE & had &
SrEqe ararefier &1 A Fdrg:

(a) Justice Chandrachud/ <o dggs

(b) Justice Leela Seth/ =arasfd fiem @5

(c) Justice Indu Malhotra/ =arawfd $g Asai=T
(d) Justice Deepak Mishra/ =amgfe rues fAsm
Ans. (C)

The Union Ministry of Social Justice released
its data about beggars in the country on
March 23, 2018. Which Indian State has the
highest number of beggars according to it?
&g g = w7 23 A1, 2018 &t dar
frafat & ar F srgar a1 R foran) g9 srgER
WRd & fohe g # faEiRal i den g9 sifds
8?

(a) Bihar/ fa@rR

(b) West Bangal/ afgjw svmrer

(c) Uttar Pradesh/ 3=k wdar

(d) Tamil Nadu/ afe=rg

Ans. (b)

What has the Kailash Sodhani Committee

recommended in its report in October, 2018?

cherter Syt SR 3 sreear, 2018 # oo+t Ruié &

a fR_wmTiRer i g2

(a) More democracy on Campuses/ aiRERI 1R
31fdeh stehes

(b) Sports Philosophy to be taugh as a
subject/ @« %219 & v vy & &9 d vern
SITQ

(c) Yoga as a subject/ ga fawg & &q & ghr

(d) Compulsory revival of student's Unions/
o |4l &1 sifarf gIegR

Ans. (b)

i
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An appeal to "Gift a Skill" was made by

Minister for Skill Development and

Entrepreneurship on the occasion of :

@i A iR Safdar @it grRT "va @i

SUgR" &Y e fhd SraeR R i 71 ofi:

(a) Reksha Bandhan/ zeft sie=

(b) Vishwakarma Pooja/ fagast gum

(c) Diwali/ fareft

(d) International Labour Day/ 3idRfflm sm
aw

Ans. (a)

Food Safety and Standards has allowed use of
which gas for ripening of fruits in Regulation,
2015?

QT Jre iR Al 1 faffgw, 2015 & wal &t
gopA & forg fohe 19 & Sy 6t sigafa & g2

(a) Methane/ a9

(b) Ethylene/ gfdsfi=

(c) Propane/ uidq

(d) Ethyne/ vfa=

Ans. (b)

"Hamara Swasthya, Hamari Awaaz"

campaign has been initiated by whom?

"EART A, gHII arst” v fahad grr

= R ma 82

(a) Ministry of Health and Family Welfare/
W IR aRar wearor d=ea

(b) Ministry Planning Association of India/
AR wfHn gaifRgeE sife $fear

(c) White Ribbon Alliance for safe
motherhood, India/ §f&a AqE, WRa &
forg sgrge Rem gemaw

(d) World Health Organisation/ fag| @
IS

Ans. (c)

Name the woman who created history of
February 22, 2018 by becoming the 1st Indian
Woman Fighter pilot to fly solo :

IY HIZHT T A9 9a13¢ fSH97 31ehel IS WA areft
Ugell YR AfZAT WIgeR Uraee g9 22 e,
2018 o1 3fae™ =

(a) Taniya Sanyal/ arfear ar=areft

(b) Avani Chaturvedi/ smaf¥ agdd

(c) Anchal Thakur/ 3fiae 31g%

(d) Manika Batra/ afert o=

Ans. (b)
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Paryatan parva was organized nation wide in

India from 16 to 27, September, 2018. Which

of the following was not among the three

main components of the 'Parva'?

16 & 27 f@deR, 2018 & WRd d uded ud a&r

Srate 321 R | foran wan um fAafafEa § @ &k

'gd" & i g geant 7 | g ur?

(a) Dekho Apna Desh/ 2zt arg=ir 321t

(b) Tourism for All/ T3ft & fag udfes

(c) Tourism and Governance/ gded 3R ME=

(d) Tourism and Digital Technology/ e 3z
f3fSiea meifadi

Ans. (*)

Prof. G.D. Agrawal, who expired on October
10, 2018, was on a fast unto death for which
cause?

. Sf. &Y. srrarer, fA=ranT 10 srager, 2018 &t fAe=
&l T, R hRoT @ THRYT 3FF WR A?

(a) Deforestation/ &=t &t TS

(b) Plastic-free India/ wif®es g WRd

(c) Cleaning Ganga/ i &t 9T

(d) Swachchta Abhiyan/ w@=sar sifdam

Ans. (c)

While Validating "Aadhar" the Supreme

Court of India makes it essential for which of

the following?

"ITYR" hl AT hd GHY WR hl aied AT

fAfafaa A @ foraas o ermages gamarg?

(a) Bank-account/ s @&rar

(b) Credit-card/ shfee &1

(c) Passport/ arealé

(d) Filing Income-tax-Return/ 3maam-Red
@ &

Ans. (d)

In which of the following countries
referendum was held in May 2018 to make
abortion law flexible?

iU @A A e a9 & fog ad 2018 #
fAefafaa @ @ forg 221 A s dug smafaa farar
T UT?

(a) Netherlands/ Hfiezds

(b) Sweden/ &fte=

(c) Ireland/ smaRA=

(d) None of these/ 398 @ &is &l

Ans. (c)
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150. Who has been awarded the United nations
UNEP Champions of the Earth Award, 2018?
Yk A¥ UNEP 3ftid oife g o1 srard, 2018 &
fra gunfAa forar mar 82
(a) Kailash/ avemer
(b) Narendra Modi/ 3 &t
(c) Sudha Vergese/ g affet
(d) Donald Trump/ SiHres e
Ans. (b)
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